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2.4-2.5 Review
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1) Verify (x + 4) is a factor of f(x) = x* — 28x — 48. Find all the other factors of f(x), and then find
the zeros.
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2) Use the remainder theorem (synthetic division) to evaluate g(x) = 2x° + 3x* — x* + 3 for g(2).
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zero at -1 and 4i. A) Write in factored form. B) Write in standard form.
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4) Let (x + 2) and (x — 4) be factors of f(x) = 8x* — 14x> — 71x*> - 10x + 24. Find all the other
factors and zeros.
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o of g(x) = 4x> + 23x* + 34x — 10. Find all the other zeros.
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6) Find all of the zeros: x>+ 4x— 1 =0
Gz ,b-‘l c:-) @:W'JE
o=~V 16-d0r) a/e

—_————
e o, alfE

Lazw

7) Perform the following; write the answer in standard form.

6+2i 3t

a, (+2)-(5+7) b. (4+V=18)+(8-V—32) .
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